o2 134 AD//CF ©]a /ADB = E
20°, /BFC =22° 4 ], zx + 2y & 27] D

19

® 65° @ 73° ® 80° @ 84° ® 90°



ohe 28 Fel A Ul A A, B, C, D 7F 3 4 glo] 9 e A
3holet,

a1
H7




3. O 1"A PA, PBE 909
AAMol1 /APB = 46° & o, x 9
A2 Aot ek




@® /BAO = %ABOP
@ /CAO = %ACOP
® 2/BAC = /BOP
@ /BAO = /OBA

® /CAO + /ACO = /COP

rlo




th2 1o A LAPB = 35° & o, ZAQP
£ otH?

@® 35° @ 40° ® 45°

@ 50° ® 55°




6.

the 73 =04 Y A A, B,C,D 7} 3 9] 21

e He?

@® )
A B D C
AAB
30 30
D
C

©)

D

@
A D
4 gl 4™
B o C
®



7.

ohe T3 2ol 42H ABC o Z314 B,C oA 22o] o]
f@l 5419 W& D,E 21 @ uf, A219 BCDE o 98t

A 527



8. o= IdA B & A7E Eutelvh?

O 44° @ 45° ® 46° @ 47° ® 48°



9. DABCD 7} 9of Aottt gt ofuff zx o] 27]=7

@® 99° @ 96° ® 94° @ 93° ® 90°



10.

o5 283 2ol ¥ O o WHst
Foll A /D = 150°, /F = 95°, ¢
o of, x o] G227

® 105° @ 115° @ 125°
@ 135° ® 145°




O™y Zro] /B =86° ©] I /BDR = 68° & 1, /A & 7=

©
=

ot

11.

@ 92° ® 93° @ 94° ® 95°

@ 91°



12. oS 2o AB = 4., AC = 1 o]}, 5.0ptAD = 35.0ptAC ! i,
/BAD ©] 5712 F5toie.




13.

thS o)A oABCD = € O o YA
5t /DPC = 35°, /BQC = 25° & o,
/BOD 9] 3712

@® 100° @ 110° ® 120°

@ 135°






15. 90 o WHshe 42729 ABCDE |4 iz AC 9} BE ] 78-S
P 2 & o, AP = 2 o|t}. o|uf, A& CP 9] Zo|Z {afojal,

D S
=%



